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Unit 4 Review.

1. Find the slope and y-intercept and write an equation of the line in slope-intercept form for each of the

following tables:
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2. Graph the linear function 2x+4y =8 and write the x-intercepts and y-intercepts as ordered pairs.
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3. Graph the linear function 3x —4y =12 and write the x-intercepts and y-intercepts as ordered pairs.
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4. Find the slope and y-intercept o the line containing the pomts {1,-7} and (-2, 2}, and write the equation in

slope-intercept form.
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5. Find the slope and y-intercept of the line containing the points (2, 7) and (-2, 5), and wnte the equation in

slope-intercept form. (Qf b §

53 e

y—lntercept éQ ®§ Equation:

Slope:
-2 |3 Sres e T 59 z
6. Graph a line with We and label it Line A. Next, graph a line wnth zero slope and label it Line B.
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7. Graph the equation yz—3—x+4.
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8. Write'the equation of a line in slope-intercept form that has ; y-mtercepﬂgﬁ@nd@f’f}

bn the coordinate plane below.

9. Graph thegparent function.
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10. Sally graphed the equation y =2x—5. Tim translated Saiiy 3 equation 8 umts up. ‘What is slope,
y-intercept, and equation of the new line?
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11. Takisha graphed the equation y = —Zx +6. Edgar decided to change the slope to -5 and graph the

new line. Answer the following questions about Edgar’s new graph compared to Takisha’s graph.

e :
a. Istheline steeperorflatter? | NN
Qe per -5 > K S
m@gm‘\‘\‘“ﬁd { ‘ g | :
- b. Did the direction of the slope change? . _ _ B B _ i
No, o meg%m ;r | L >
T LD ‘ NAY
c. Did theylntercept of the new graph change? —
. i ; PRI R 3 3
Mgsczmiﬂ wVL\@i slope e B
i i ! . A A (TR
S Jost AN B R 1. =
Shegene ss &'gi sias O DN S
O b R 7 Pt
0 NN B mEA wan
: | P P T TN T




same > o
12. Write the equation of a line that is parallel and five units above the graph of y = —2x g
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13. Write the equation of aline that i is para!iei and three u}%ts below the graph of y —% -6.
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14. Clean-It-0ut Plumbing Company charges $25 per hour plus a service call fee when called to‘.repair a
plumbing problem. The company uses the equation C =25/ 50 to calculate the charges, €, for the
number of hours, h, on the job.
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c. What would the charges be for 8 hours?
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15, Sam received an iTunes gift card. Each time he downloads a song to his iPod, $1.501s dedueted from

his card. When he had downloaded 12 songs he had a balance of $12. The relationship is represented

in the table below.
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a. Write an equation to represent this situation. Balance
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b. Write the y-intercept as an ordered pair. What : i:
does it represent in the situation?
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c. Whatis the rate of change? What does it

represent in the situation? :
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d. How much money will Sam have left in his
account when he downloads 18 songs?
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